i
I
iy
Tl
P=ai
i

1. ¥4
4 SR T EETE B M 0 B RS2
JEAT ST AR [ FES T

2. EHEAR

1) FHEI4

2) JEATHIM

AU EEF BT o SRk

192 H H &% 74 8H20H
E S 8% 2H2TH

3) PN

4) EBNE

=R oS KN o723 S



PR NERE

EBL | BT EER IR R0 SRS B REES
H H WA - FHiE
THH - TR - R H AL % & 4 #H E T N
AR - G X 1 20, 220, 550
Hi9~ 0 o R AR =X 1 20, 220, 550
H9~ = o R AR =X 1 20, 220, 550 | FHEE(
1 =
B RS
1 =
BLAGE RN AL - PR
1 =
3~ 0 BT
1 =
W9~ Z2E R ORI
1 =
i EE AR i 22 E AT
1 =
TR O E A B
1 =K
Atk ORI & bR T # o B
1 =K
HEELVELD
1 K
i@ X 1 539, 320
Him GREER) X 1 135, 420
Nl (e X 1 135, 420 | Z\BHRKF SRR
1 E30
iE GRA - FHEEER) X 1 403, 900
FIEvs 2V 1 403,900 | fTAH
1 =

- Etzz@y  AbkEt 5w R



i
T

%lljll
I

EWA | BT BT R FEF MR ER BEES
H H EERE
TEHA - LfE - R =AY VA # & A OB R
B =X 531, 322
RS T¢ = 531, 322
i AL = 309,322 | fiftr (EEtE - EINMEE)
1 K
%%Eﬁ%u%{?ﬁi% it: 222,000 %%E}Z%Dﬁ%ﬁzﬁi%
1 K
EEFAM (2 OMFEMmER <) = 21, 291, 192
& DAt Al = 11, 179, 189
— i B = 17, 479, 619
SRR oy 49, 950, 000

=R oS KN o723 S



